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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choicedn this question paper.

4. Use of calculator is net permitted.

EUS-37 / SECTION-A

9 G 1 W4 H T Bl 1 37 2

Question numbers 1 to 4 carry one mark each

1 1
Wwv&ﬁaﬁwmﬁﬁ@m
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Write the rationalising factor of

G

2 It ax® +2x° — x + 32— 7 1 Uk OFETUS x +1 &, T a T A T HITST | 1

If x+1 is a factor of ax’ +2x*>— x + 3a— 7, then find the value of a.

3 ArRfa H, AT LA =40° 3R /B=70° &, @ «DCE 10 i | 1
A
40°
70° D

B C 3
E

In the figure, if ZA=40°and ZB=70°, then find ZDCE.
A

40°

70° D

B C 4
E

4 foig P, x-37e1 TR feord § Q91 y-91e7 T U o1 91 4 3R 1 g W1 79 foig P % fordomes fafaw) 1

Point P is on x-axis and is at a distance of 4 units from y-axis to its left. Write the coordinates
of the point P.

EUS-d / SECTION-B

3 H&1 59 10 H TS 1 2 37 B

Question numbers 5 to 10 carry two marks each.
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> ! ¥ T T UREAHIOT HIT | 2

NN N
1
Rationalise the denominator of ——————.
N NN
6 T 3x+2y= 12 R xy =67, A 27x3 + 83 1AM [ HISIC | 2

If 3x + 2y = 12 and xy =6, then find 27x3 + 813.

7 faa # afc AB=CD &, i1 fag &Nt AC=BD T | I8 Jfore  ford STRTREIA o SMUR W ? 2
TABCD
In figure if AB=CD, prove that AC=BD. State Buclid.axiom, which is applicable here.
8 3Thfa H, 9fc LABD = ZACE g, @ fag =i fes AB=AC 21 2
A
D B C E

In the figure, if ZABD = ZACE, then prove that AB=AC.

9 T ufgarg e 1 SF%e T I, St 3TMER 16 cm € 31K SRR Jnsti § ¥ T §s1 10 2
cm ¥

Find area of an isosceles triangle whose base is 16 cm and one of its equal sides is 10 cm.

http://jsuniltutorial .weebly.com/

Page 3 of 9



A . 4

10 fage A(1, 0), B4, 0) 3R C(4,4) &I aTeifEa sifwie | foig D % & fdwies 9@ wifve f5wg i 2
ABCD T& & &1 9T, |

Plot the points A(1, 0), B(4, 0) and C(4,4). Find the co-ordinates of the point D such that ABCD
is a square.

EUS-H / SECTION-C

9 HE&AT 11 920 H Ui 1 3 3k B

Question numbers 11 to 20 carry three marks each.

11 ir 1 27 3
A HITC : 27 3{273 - 273 J
i1 2]
Simplify : 27 3|L273 - 273 J
12 AR A 3
. 1 A 1 R, At - L&
32t 2°
274 8"

Find the value of , jf

32% 2

13 BT fF x -3, FETR2x3 — 242 — 19x — 9 1 Teh UHGE ¢ | THHT TN Hd gL FgUS ol U@ 3

HIT |
Show that<x—3 is a factor of the polynomial 2x3>—2x?>—19x—9. Hence factorise the
polynomial.

14 M HITT o & (x— 2), (x+ 2) 3R (2x— 3), 23 —x2 — 8x+ 4 & UAEE T | 3

Find whether (x—2), (x+2) and (2x — 3) are factors of 2x3 — x2 — 8x + 4.
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15 3Tepfa ®, IS [|m € M n T fdeh W@ s TR S fF 28 . «5= 13 : 5 © @ 9ft w0 7@ 3
ST |

-

A

In the figure, if I|m and n is a transversal such that ~8 : 45 = 13 : 5, find all the angles.

16 S TR ARl 9 Twiey fR XY|EF. 3
X Y

In given figure, show that XY/||EF.

17 T HAfgag 191 LMN % LM =LN. MP T NQ <1 "ifeaentt 8 1 fag ifsre fo MP = NQ. 3

In an Isosceles triangle LMN the sides LM =LN. MP and NQ are two medians of the triangle.
Show that MP =NQ.
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18 9= LMN & ¥ies MP 3R NQ 99M €, i1 o shuen: yeiefi LN @R LM W @i 7T €1 qufze 3
f ALMP =ALNQ 3R LM=LN g1

LMN is a triangle in which altitudes MP and NQ to sides LN and LM respectively are equal.
Show that ALMP =ALNQ and LM =LN.

19 Teh T H o1 W, Tk Ig4s Sl oM 9 m, 40 m, 15 m 3R 28 m ¥ 1 AfS Teelt < yometi & si= &1 3
HT0T Teh THRIV B, 1 TGS T &t A1 Hiferg |

The sides of a quadrilateral taken in order are 9 m;w40 m, 15 m and 28 m.
If the angle between first two sides is a right angle, find its area.

20 Geed o frefafad s Il (v, y) 1 Fa aa | fagal o &9 4 seifad i 3
x 0 - 45 -1 2 -3 4
y 25 0 3 5 -2 -6

Plot the following ordered pairs (x, ) of numbers as points in the cartesian plane :

X 0 — 45 -1 2 -3 4

y 25 0 3 5 -2 -6

Eus-g / SECTION-D

9 G&A1 21 9 31 H YF Rl 4 3k 2|

Question numbers 21/to 31 carry four marks each.

21 1 1 1 1
T TSIl + + +
245 5o orT 7+ s

Simplify :

1 1 1 1
2435 sre Nerr s
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22 R Btz
afe a Waﬂ?b N \/_%?ﬁa + b2 — 5ab % AH Jd HIFTT |

+

_J;’

5

If a= find the value of a2 + b2 — 5ab.

m
e

23 afg 2x + 3y =12 3R xy =68, T 8x3 + 27y3 1 AH 1T HIT |
If 2x+ 3y =12 and xy =6, find the value of 8x3 +27)3.

24 MG 22+ L= 11 %, A .- L o e A WA R g w2 - %A 96 F
z 4 z

1 . 1 . . 4
If 22+ — - 11, find the value of z°— — using only the positive value of z —
z z V4

25 UGS T : x3 —6x2 + 11x— 6

Factorise : x3 —6x2 +11x—6

26 2 2 2
I a+b+c=07, a1 fag =ifeg : GO M CI) M I =1

3bc 3ac 3ab

2 2 2
B+ o, (+a’, @t b’ _
3bc 3ac 3ab

If a+b+c=0, then prove that 1

27 & TE Rl H M W F F o W @i T @ foeE T ¥ afe g8 W guid € d x qen
w % T &1d_HieIC |

Th AT & Al &9 W S T99, foere T SR Y 91 & o § 9ed €1 U9 6 9 98 g
e i <M @ §?

x°\< 118°\
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This figure represents line segments painted on a parking lot to create parking spaces.

x°\w°® 118°

If these line segments are parallel find the value of x and w.

People in the colony are thinking to use car pool while going to their work place. What value are they
showing by doing so ?

28 Tq4s PQRS % fasuf PR deam sQ WoR O W fiyerd €1 fag =T % PQ+QR+RS+SP < 4
2(PR+QS)
Diagonals PR and SQ of a quadrilateral PORS meet'at O. Prove that PQ+QR+RS+SP <
2(PR+QS)

29 foat & =wgyds ABCD &% Uil LA T9/D % §HGUNER U9 AO a1 DO €1 fag wifsw 4

fr/AOD = L (£B+ Q)
2
D

A
B
In figure, AO and DO are:the bisectors of ZA and ZD respectively of the quadrilateral ABCD.
Prove that ZAOD =% (£B+£C)
2

30 MHfAHAD=BD ? 1 fag ®ifST fFBD < ACT | 4
A
5972
B D C

In the given figure AD=BD. Prove that BD < AC.
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31 3 § OA =0B, OC=0D @MLAOB=,COD g fag #ifsy fF AC=BD ¥
O

D

A C \/
B
In figure OA =0OB, OC=0D and ZAOB=ZCOD. Prove that AC=BD.
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Marking Scheme

SUMMATIVE ASSESSMENT -1 (2014-15)
Mathematics (Class— | X)

General Instructions:

1

2.

3.

The Marking Scheme provides general guidelines to reduce subjectivity and maintain uniformity.
The answers given in the marking scheme are the best suggested answers.

Marking be done as per the instructions provided in the marking scheme. (It should not be done
according to one’s own interpretation or any other consideration).

Alternative methods be accepted. Proportional marks be awarded.

If aquestion is attempted twice and the candidate has not crossed any.answer, only first attempt be
evaluated and ‘EXTRA’ be written with the second attempt.

In case where no answers are given or answers are found wrong in this Marking Scheme,

correct answers may be found and used for valuation purpose:

EUuE-3 / SECTION-A

9T G 144 H Ik Rl 1 AR |

Question numbers 1 to 4 carry one mark each

The rationalising factor is /7 + /4 1
2 1
ZACB=180°—(70°+40°) =70° 1

ZECD=/ZACB=70°
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Eus-o / SECTION-B

9 G 59 10 H TS 1 2 37k B

Question numbers 5 to 10 carry two marks each.

° 1 _ 1 X(\/3_+«/5_)—\/2_
B+ et B
_ s+t \-Ak
(V5 + B) € (Vo)
_ Br -k
3+ 5+9a/15 22
_ BBs 2
erhm2 15

=‘E+*/=_*E>< 6= 24/15
6+ 215 6~ 215

_ 63 65— 632 — 645 — 1043 * 2450

36 — 60
_ a3 62+ 2450
-24
_ 23+ 32 - o
12
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£ LN

6 (Bx+2y)3 = (3x)3 + (2y)3 + 3.3x.2y. (3x+2y)
(12)3 = 2723 + 83 +18.6 (12)

27x3 + 8y3 = 1728 — 1296 = 432

7 AC=AB+BC
BD=BC+CD
Given AB=CD
BC is added to both side
AB+BC=CD+BC ................... 1

AC=BD .....ccceceininin. 12

8 ZABD=ZACE

180°— ZABD =180°— ZACE

ZABC=/ACB
= AC=AB
+ +
9 S=16 10 10=ﬁ=18.
2 2

Formula of area

Area = /18 X 2 X 8 X 8 = 48 cm?2
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10 Applying the conditions of a square, finding the co-ordinates as D(1, 4)

Vg “ZGE-H / SECTION-C e

9 HE&AT 11 920 § Y 1 3 3k B

Question numbers 11 to 20 carry three marks each.

11

12

13

1
5 1 2/1
(33) |(33)3 — (33) 3|
L J
= 3[3-32]
=3[3-9]
=3[—-6] =-18

p(x)=2x3+x2—-18x—9
p(3)=54+9-54—9=0

= x—3is a factor of p(x)
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£ LN

= 2x2+7x+3

2x24+7x+3=2x+1)(x+3)

p(x)=(2x+1)(x+3)(x—3)

14 p)=23-x2—8+4
p(2)=16—4-16+4=0
= x— 2 is a factor of p(x)
p(—2)=—-16—4+16+4=0

= x+ 2 is a factor of p(x)

3y 27 9
pl=|=2—~->-12+4 %0

2 8 4
3 .
= x — — or 2x—3is not a factor of p(x)
2

15 Let £/5=5x, Z/8=13x

£5+ £8=180° = x=10°

o

£7 = 245 ="180°

(V.0.A)
£Z8 = Z6 = 50 J
/3= £7 =0130° ]

. (Corr. angles)
Z4 = 8¢="50 J

o

Z1= £3= 130" ]
J (V.O.A)

o

£2 = Z4 = 50

http://jsuniltutorial .weebly.com/

Page 5 of 12



16

17

18

£ LN

In Fig. ZXYR=ZYRS=66°
But these are int. alternate angles
SXY|RS. 1
Also ZFER + ZERS=180°
(Sum of interior angles on the same side of transversal)
~EF|RS 1
Since XY/||RS
RS||EF
SXY|EF 1

M N
Here LM =LN (Given)

As MP and QN are medians

- Pand Q are resp. mid points‘of LN.and LM.
Proving AQMN =APNM  ................... 2
Hence MP=NQ (CPCT)  ......cooiienenn. 1

M N

Page 6 of 12

AMON =ANPM (RHS) ...l 1%
ALMN — AMQN =ALMN - AMQN

ALNQ =ALMP ...l 1
=LM=LN 2

http://jsuniltutorial .weebly.com/



19

20

28

15

B 40 C
AC = o2 + (40)® = 1681 =41m

Area (AABC) = = x 9 x 40 = 180 m2
2

for AACD,

28 + 15 + 41
s= — — =42m
2

Area (AACD) = 42 X 14 X 27 X 1

= 126 m?2

Area of quadrilateral = 180 + 126/= 306.m2

Drawing of axes

Plotting of points

Eue-g / SECTION-D

9 G121 9 31 H Yok hi 4 ek 2|

Question numbers 21 to 31 carry four marks each.
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21

22

23

Page 8 of 12

Exc<eil

Rationalising the denomiinator for all thc terms, we get
T 1 N 1 N 1

2+ 5 5te et Ttk
B I A et AR Ak
22 -5 (5ot (o)) - (W)t (V) (W)
R e I e R )

4= 5 576 6= 7 7-8
I N I e )

-1 -1 -1 -1

2t B E R F
_2- B

-1

=_2+\/8_0r \/8—_2

BV Bt (B @) 2Bt (V)

a

N N N N A 3" 2
- +
I R A O
1

similarly b= 5% Z\E

att b2 - 5ab=(5- 286)2 T (54 2/6)2— 55— 26) (5 + 2+/6)
= 25+ 24— 20<f6 + 25+ 24+ 20406 — 5 (52— (24/6)%)
=98~ 525" 24)
=98 — 5= 93

(2x+3y)3 = (2x)3+ (3y)3+3. 2x. 3y (2x + 3y)
(2x+3y)> =8x3+27y3 + 18 xy (2x +3y)
123=8x3+27y3+18.6.12

1728 =8x3+27y> + 1296

- 8x3427y3=1728—1296

http://jsuniltutorial .weebly.com/



24

25

26

-

=432

(x—1) is a factor.

x3—6x2+11x—6 =x3—x%2—5x%2 +5x+6x—6

=(x—1) [x2+5x+6]

= (x—1) (x—2) (x~3)

LHS =

3be 3ac
_ ad + b+ 3
3abc
3abc
3abc
=1=RHS

http://jsuniltutorial .weebly.com/
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b+c=-a

ct+a

and a+b=-c

Q a3+b3+c3=3abc



LN

27 Care for environment
W+1182 = w =622 (angles on same side of the transversal)

X =1182 (corr. angles)

(=}

x> \w®  118°

28 S

P Q
Now PO+0Q >PQ
OQ+OR>QR L 2
OR+0OS > RS
OS+OP > PS
Adding 2 (PO+OR) +2(0Q+0S) > PQ+QR+SR+SP ....... 1
= 2 (PR+SQ) >PQ +QR+ RS +SP }
= PQ+QR+RS+SP <2 (PR+QS)

A B
In AAOD,

/DAO+ ZADO + ZAOD =180°
~.ZAOD=180°—- (£DAO + ZADO)

http://jsuniltutorial .weebly.com/
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=180°— L (LA+4D) e ) e 195
2

In Quadrilateral ABCD,

A+ /B+ 2£C+ £D =360°

ZB+/£C=360°—(LA+ £4D) --—--mmm- (1) e 1%

From (i) and (ii)

ZAOD=180°— X [360°— (4B + £C)
2

30 AD=BD
=/DAB=/ZABD=59" ... 1
(Angles opp. to equal sides are equal)
In AABD
59°+59°+ ZADB=180°
ZADB=180°—-118°

=0602° 1

ZACD=62°—-32°=30°

(Exterior angle is equal to sum of interior. opposite angles) ........ 1
In AABD

AB>BD

(Side opp. to greatest angle is longest)

Also in AABC, AB < AC

=BD<AC L. 1

31 ZAOB=ZCOD (given)
ZAOC+ £COB=«4£COB=+ ~2BOD
ZAOC=/BOD . eeeieeiiinennnn. 1
In AAOC and ABOD
AO=O0B (given)
OC=0D (given)
ZAOC=/BOD/(proved above)
~AAOC=ABOD (SAS) 2
AC=BD (epct) 1
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